[2.54]

2.63 my = 12 kg, m = 100 kg, k¥ = 3,000 N/m, N = 1,800 rpm, e = 100 mm, X, = ?
ke = k + k=2 (3.0<10° N/m) = 6,000 N/m
(27 rad) N (27 rad) (1,800 /min)
= = = 1 .
Wr 60 s/min 60 s/min 88.5 rad/s
k, 2
w, = \/Wq = \/—6’0100001;1/5 = 7.746 rad/s
188.5
r= e T 243
2 2
X, = ot d = (012)0.10 m) ——243" 501200 m
mo (1) + (2¢r) V- (24.3)7)
= 12.00 mm
2.67 m = 150 kg, k = 1,000 kN/m, ¢ = 600 kg/s, N = 3000 rpm, £, = 374 N
3 2 .
w, = \/1’0001X5;(l){gkg/5 = 81.6 rad/s, w, = (2”322)(3/’2?51/““) = 314 rad/s
314 600 kg/s
= —_— = . = = . 4
"= 3 - 085 C = S50 kg) (816 radfs) . 00240
(@) x = -2° o ( 2= R)
a = myew, =
\/(wi—wr2)2+(2Cwnwr)2 ’ "
_ £y r’
mwl (1 =)+ (2¢r)
(374 N) 3.85°

(150 kg) (314 rad/s)* v/ (1—3.85%)% +[2(0.0245)(3.85)]2
= 0.0271x10% m = 0.0271 mm

(b) my/m = 0.01

my = 0.01 m = 0.01 (150 kg) = 1.50 kg

F
L 374 N = 953%10% m = 2.53 mm (oA &

mow?  (1.50kg) (314 rad/s)?
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